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[4 e CREHX) ] - - - -
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(17 #&{eler] - - - -
[18 V%] - —

(D) V=v6-1TE/ AL I, 276 5 KP=115.4 (36532

235 10km oD HiL ) SV R GCAIIALD Th D,

(FE2) V'=v8DHh  AATHMEGETE IR ROk HGHROMZET) 280 D) &0 LA A (B EERIETRD 1235 Tk,

S = B AR S S O BARR E AL TH D,
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80mmifk 40mmifk
[V —No. X 4] M) 110 1H M) 1104 1H
(1 B RT - IR ERET e 3,000 § 3,300 3,000 3,300
[2 =i - 5] 3,300 1 3,300 3,300 1 3,300
[3 grigili et R AR nT]] 3,200 1 3,500 3,200 § 3,500
[4 e CREHLX) ] 3,300 1 3,700 3,300 ! 3,700
[5 A&EHT] 3,800 § 3,800 3,800 | 3,800
[6 &/ NEHT )61z B - - 3,800 f 4,000
[6-1 /M fLil] - - - -
(7 ZhT - - 3,900 F 4,200
[8 JZEN] ](x3) 3,500 1 4,200 3,500 1 4,200
[9 TehvblT G 510%5:0 1] 3,900 1 3,900 3,900 1 3,900
(10 wenbrrGEsiE L -f- s Em] | 4,600 1 4,600 4,600 | 4,600
(11 wobnr @< - maor s 1| 3,300 1 3,400 3,300 {3,400
(12 “FHET ] g 3,300 1 3,500 3,300+ 3,500
(18 H&EN (B &) - 5ikf] - - - -
[14 #sny-gro=oer Grest) ]l 3,700 1 3,700 3,800 1 3,800
(15 FHOZHET GEoiR) ] - - - -
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[17 £REIT]) 4,500 F 4,500 4,500 1 4,500
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[4 T CRERX) ] 3,300 1 3,300 3,300 | 3,300
[5 F#rT] - - - -
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